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{1 -1/ PART -1
91« {9 9 fArneme / CHILD DEVELOPMENT & PEDAGOGY

31 : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

[A]

Level-3/4307

1. ‘Zﬁ MM & a9 SR & gAES 1. Positive facilitation of present learning
w9 qgare ST, 33T F AR W through past learning, for example
T Gl a on dfsear @ TR addition helps multiplication. This type
(ﬂ'{:ITW) BT 3G TBX 1 AW of transfer of learning is called :
RIFRRYT HEA ¢ -

(1) FHeEE (2) STHHE (1) Vertical (2) Sequential
(3) wIEE @) fEneE (3) Lateral (4) Bilateral

2. fooe@ @SS @R St @ 2. The democratic organisation of school
yeifad FRar B, ST H T BB influence learning, this factor of
Twefeed ® - learning is related to :

(1) fofy e o | (1) Methodological aspect
(2) qmHIf® 98 | (2) Social aspect

(3) FH 9w (3) Physiological aspect
(4) TR ger & (4) Psychological aspect

3. fy=ifeReq § @ d-€t Ao foenfiat & 3. Which of the following is not an
e S| 1 ga T & fQ appropriate strategy for improving
SEREN TR ? students' problem solving ?

(1) ICEIRRIRE B CAR R CR R K (1) Functional fixedness of students

(2) TEAAR-[9ed qEERT & TN & (2) Give extensive opportunities to
fTT e STEER A solve real-world problems

3) AP B THET FEEE § A (3) Involve parents in children's
HI |iAfed B problem solving

@) il & guer gmye S g (4) Monitor students effective and
AR ol dAewrel @ HireX ineffective problem solving
(EIE?[%FT) HTT strategies

4. A Eﬂgt_ﬁﬁ EIECIERURCE RG] J& 96 4. Rohan is reading a latest Bahubali comic
@ 2 Ak T8 29 dd Pl lX T B book because he cannot wait to see what
T % SgEe IR 36 URAR & A happens to Bahubali and his family. This
R g1 | I8 T T T is best example of :

(1) Haq SN AU H (1) Only intrinsic motivation
2) Had STl STEROT H (2) Only extrinsic motivation
(3) ST<iR® AR ST A PR B SRR (3) Both intrinsic and extrinsic motivation
@4 = A TaRe SR T & ST SRERET (4) Neither intrinsic nor extrinsic motivation

P.T.O.



[A]

Hiepios JanE (FE) 8 S99 & g

freifoie & & -6 T STl b

e B ?

(1) fafy= faftal @1 Swam feenfR &
M & T B

(2) TH W AFDHIHT TUE0T H ST

HET

(3) AHESI fAR=eT @l AR
% BT T

(4) ST B LW P [T GEHTA B
ST § S

Heaa] & Har ¥ 5 & W Afas
o 9@ AMel UX omuiRa e B
ST GX SR 2l & °

(1) E-S=eH &R

(2) T &Y

(3) 99T Y= &N

(4) ST Siqaateds WY

fF e fha UWEr dOe 9
HOM T GHEST H GHIEN BT 39
ff gifad &ear &1 39 e # foww
& I Bl &

(1) SATgefmEp

(Z)Err{ﬁ $ % AgHdl

3) T X S8 AR
(4) gaqar (FReaan) s™

frfofaa & @ @S- Ao fenffat &
FiivTh  (STeleIorh) fawm @i &
Wﬁﬂ%ﬁﬁﬂ@@ﬁ)ﬁaﬂéﬁ%?
) A (Sgfshedl) TR S
mﬁa%g; ¥ weayt Wl Rk
P PG TG BT BE A
(3) fRE ® W TER B TR
HH H a1 BEA I ST qed
gﬁ?ﬁﬁﬁﬁﬂi’rmﬁraﬁng

(4)%@&?&%3}16@%@?5@6
& 6 ‘A M
HeMaY Y91 47 B B gHES
7T GUST FHifoTT

Level-3/4307

[4]

Which of the following is a good

assessment strategy to avoid cultural

bias ?

(1) Assess students using a variety of
methods

(2) Use a single, good standardized
test

(3) Assume that ethnic differences are
due to heredity

(4) Avoid using  portfolio  for
assessment purposes

In Kohlberg's theory, at which level
moral development is internalized and
not based on external standards ?

(1) Pre conventional level

(2) Conventional level

(3) Post conventional level

(4) Mutual interpersonal level

A child's diet affect how tall the child
grows and even how effectively the
child can think and solve problems. In
this example development is primarily
influenced by :

(1) Heredity

(2) Environment

(3) Early-later experience

(4) Continuity

Which teaching strategy is most likely

to foster the development of critical

thinking skill of students ?

(1) Giving a multiple choice test

(2) Assignment for students to create
timelines of important historical
dates

(3) Giving worksheets to students that
require them to recall the facts
presented in their text books

(4) Presenting students with statements
such as "Lal Bahadur Shastri was
our greatest Prime Minister" to
defend or refute



10.

11.

12.

13.

AR, e @ue ®
ﬁssﬁrmﬁﬁm%wﬁ-@ﬂﬁ@ﬁ:r@
ST H I HAF F © 7

(1) TR (T5aH) Hae

(2) YBAM IuAley

(3) YBaM fqas=H

(4) TEEM ArEE-FEY (BREIR)

R fenfaidl & o1y # #Rd 99g Th

AeHOE & U gaite SugE FM

T B

(1) feenfiEl § ol &3 & [T e

() & guE FX e @
qReheaHIeT HLEMT

(3) NIl I FHHA Gk H I
T&N B

(4) Th FH TA GHA YAl IS Hl
I/ HET

J 9% A e F AW S &

3fte feorar B &

(1) 20/70 & 20/200

(2) Y MaR® o6l & | 20/20 3fe

(3) A9 FaR® a6l & 9y 6/6 gfte

(4) 20/10 & 20/30
arftrmear (1R i T
mw%awﬁﬁﬁ
sl @t derdr | SNl gHe @ ffia

FE B U Teded B 8, 98 ® ¢
(1) Sradt TfrFm

(2) AFERIT oFast TferTy

(3) e e SAfF™

(4) YT SR ST

g% b AU, 99 T8 [BHl B W
Piad TE @ U, SAY fRAT
g, g Ml @ qXaE el wear @
iR ol B A9 WA & 9™
IFIIYFTT Sie T o/ B, g ¥

(1) FEEM AT FAlHhI R &
(2) WE STrTEal (TN ) &
(3) HAFfEH Hadl &

4) FiT qoE F

Level-3/4307

[5]

10.

11.

12.

13.

[A]
According to Erikson, in complex
societies teenagers experience which of
the following state ?
(1) Identity crisis
(2) Identity achievement
(3) Identity moratorium
(4) Identity foreclosure

Most suitable strategy for a teacher,
when he/she is working with adolescent
students is to :

)
2

Ask students to make comparisons

Propose a problem and invite

students to form hypothesis

Give children
ordering operations

3)

experience  in

“4)

Children considered as low vision who

Construct an inclined plane or a hill

have a visual acuity between :

(1) 20/70 to 20/200

(2) 20/20 vision with corrective lenses
(3) 6/6 vision with corrective lenses

(4) 20/10to 20/30

Learner centered instructional strategy
in which students are encouraged to
construct their understanding with the
assistance of teacher through questions
and directions is :

(1) Discovery learning

(2) Guided discovery learning

(3) Problem based learning

(4) Project based learning

Child's symptoms when, he/she can not

stay focused on a task, act impulsively,

ignoring social rules and lashing out

with hostility when frustrated, is

indication of :

(1) Attention — deficit hyperactivity
disorder

(2) Slow learner

(3) Mentally retardation

(4) Amnesia

P.T.O.



[A]

14.

15

16.

17.

18.

THR wErEgd © N TRR Ak
arferes ffforars Riera @ awafeea ¥ |

(1) R (2) AW

(3) T (4) TGN

1o - KOG o Y | 4791 G I et e G
YR, feErff & wRER, @ R
foemg onfe Su® A & gead Hd
g X 3 gy Eq ® -

() F@ T q (2 gEaA |
@) TITHA @) IJFTH A

AT ® IAN, FE B
i S e ST @ Y S8
W We oMY s g
el § BT €9 8, Heat
(1) SHfET

(2) 3T AfRAT~TSaT

(3) FRivE qewfa

(4) ST fa@E &=

et & orfeR, Frfafad & @ @e-a
fuar sl & Nueie  fhaTs
e Tl 7@ e ?

(1) INREHTHD- TS TebT
(2) STEIMETEl qE

(3) T+ T

(4) ST b

Ted & gha TOEr S§ SfEd iR
q ofF gRE @ el 8| e
Yes, aaql, g [ R faee &
Is oafis I (FH) 21 SE M B
IT FH I X AW P TG 2 |
A H GO ©
(1) fEacgfern
(3) feaafrm

a8
oA &
et @
o

afea
ITD

(2) feaanithar
4) feonfam

Level-3/4307

15.

16.

17.

18.

is to social cognitive theory as

Vygotsky is to social constructivist
theory.

(1) Skinner
(3) Piaget
According to

(2) Seigler

(4) Bandura
Bronfenbrenner's

Ecological Theory,

peers and school etc. influence his/her
development and they belong to the :

student's family,

(1) Chrono system (2) Micro system
(3) Macro system (4) Exo system

According to Vygotsky, a range of task
too difficult for the child to do alone but
possible with the help of adults and
more skilled peers is called :

(1) Scaffolding
(2) Inter subjectivity
(3) Guided participation

(4) Zone of proximal development

According to Piaget, which of the
following characteristics is not related
to formal operational stage of children ?
(1) Hypothetico-deductive reasoning
(2) Idealistic reasoning

(3) Spatial reasoning

(4) Abstract reasoning

Parul's intelligence test indicate that she
is average to above average intelligent.
However her grades in reading,
spellings, social sciences and science are
very low. Her maths grades are quite
high & her writing skills are adequate.
Parul most likely has :

(1) Dyscalculia (2) Dysgraphia

(3) Dyslexia (4) Dysphasis



19.

20.

21,

22,

frfafeg & @ f9-91 g9 foeniiat @

M WM W fgde dW H i

g R ?

(1) W& Sad § o9 fe &
HaiTeF FEE@q © 7

(2) ST S S ® 68 TeR Eied
H HqHA B 7

(3) oY o8 YT U A o 4 W
T & ?

(4) oMY S TR Jea¥ STedalics g
ST T B 7

gfeenanell St & fog et § @

BT FIFT UG 78] ©

(1) fafare e

(2) SUARHS freror

(3) @R (TiEs)

(4) AWM Fel § G

R & TJeaal aif e STeR

amedl olR oTEfye T P B B

T B PR B TE SR e

frepR eaa ®

(1) TARRET Farer

(2) SrEEA-TEERG e (SRt
FHrfeda =)

frfofed & & PH-T1 FF TR0 9= B
el SUgHRT €9 § U He © 7

(1) 99 omWEwedm da« I«@w @
fafare foemeat & farem 3

(2) Y omWEwEN d« TR W
foemerat & fafare e & fRrew 3

(3) faRIY STasFedr i SIehl Sl A
Fe H STy @Ry fvem &

(4) A9 ETHAT W TED B
A e § Qe R A

Level-3/4307

[7]

19.

20.

21,

22,

[A]

Which of the following question is most
likely to get students to reflect on their
purpose ?

(1) What is most important to you in
your life ?

2
3)

How can you organise your life ?
What can you do to get good
grades ?

(4) How can you set better short term
goal ?

Which of the following programme is
not suitable for gifted children ?

(1) Special classes

(2) Remedial Teaching

(3) Acceleration

(4) Enrichment in regular classroom
setting

Young people mainly girls engage in
strict dieting and excessive exercise.
This eating disorder in adolescence is
known as :

(1) Anorexia Nervosa
(2) Obsessive Compulsive Neurosis
(3) Neuro-developmental Disorder

(4) Bulimia Nervosa

Which of the following statement most

appropriately defines the term inclusion ?

(1) Educating children with special
needs in special school

(2) Educating children with special
needs in special classroom of
school

(3) Educating children with special
needs most of the time in regular
class

Educating children with special
needs full time in the regular

classroom

“)

P.T.O.



[A]

23.

24.

25.

26.

27.

Wﬁ%aﬁﬁﬁwﬁ@aﬁﬁ
97 7E e ?

(2) GAT W9 @ W | 2

(3)?maﬁﬁmmaﬁ
|

(4) dam W R emEre
Rr-fe ot foe e B

Sg foEmdl ofrm vy & o

et 36 THeM & S SUNH @

SEN #d & FE oW A

frfafeg & @ @9-T@ 2 ?

(1) FEelis Ao (2) STRM el

(3) "9 ¥ (4) T A

56 U Sl AYa @ S gEd W

JaTg BIE 3, Hea § ¢

(1) TS & 6T

(2) T P AR (BH)

(3) AT & HqRD &9

(4) T B TGHH (HRwHH)

STFM F g8 oEe Red T 9 offie

et T gEl @ ORA iR Sited &

g, Fedr © :

(1) & (<) farerer

(2) AR AR

(3) TEar SIfEm

(4) ST SFEH

frfafag & @ B9-a1 HI Ib A

3 freril & X TR ?

(1) fopre & ffed ok g Srgit
T § B 2|

(2) it & o GHE ¥ '\E e
g

3) fowm omgERE SR amEReT @
SR (afRem) B

4) fTFE T & e W ad
T & |

Level-3/4307
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23.

24,

25.

26.

27.

Which of the following statement is

correct about the nature of emotions ?

(1) Emotional expressions
modified by learning.

(2) Emotions are permanent state of

the organism.

are

(3) Emotions are aroused by internal
stimuli.
(4) Certain facial expressions of

emotions have different meanings.

Which of the following type of learning
style is used when students approach
the learning material in a way that helps
them understand the meaning of the
materials ?

(1) Practical style (2) Impulsive style
(3) Surface style (4) Deep style
Speaking or writing in such a way as to
have an impact on others is known as the :
(1) Grammar of language

(2) Phonemes of language

(3) Pragmatics of language

(4) Morphemes of language

Learning situation in which multiple
partners stimulate and encourage one
another is called :

(1) Team teaching

(2) Programmed instruction

(3) Cooperative learning

(4) Discovery learning

Which of the following statement is
incorrect about the principles of child
development ?

(1) Development follows a definite and
predictable pattern.

All individuals are similar in their
development.

Development is  product  of

hereditary and environment.

2)
3)

“) the

Development  works  on
principle of integration.



28.

29.

30.

MER & AR, FA0 & g (v
@I AREROTET &R W& F Teame Ak

SUGRT STIFRAT B & AR FHEdAN ©

(1) wte gfe

2) few-Tioaa® e
(afecti-areaedfes i)

(3) Siddarr® g

(4) SiTEaR g

s & ogaR, A @ s
AN URRgE @ @ o Qe
HYA & Th B GAHT B B A
R

(1) TS foar

(2) gifsifea Fepy (HepAelE STHM)
(3) WG AFRE

(4) fae=mEe

frefofag & @ fp@ gdsniye 9
frMeeer & Uil R
‘PR 98w (orafy) § forad
s oliX aR® &7 @ STeomEeen 9
e # X 9 27 ?

(1) To FHo TRE

(2) %o Flo TA®

(3) Mo Yo 3™

(4) TIo GRTEA

[9]

28.

29.

30.

[A]
According to Gardner, the ability to
detect and respond appropriately to the
moods, temperaments, motivations and
intentions of others, is known as :
(1) Linguistic intelligence
(2) Bodily — kinesthetic intelligence

(3) Interpersonal intelligence

(4) Intrapersonal intelligence

According to Piaget, adolescents ability
to evaluate the logic of verbal statement
without  referring to
circumstances is :

real-world

(1) Propositional thought
(2) Transitive inference
(3) Cognitive mapping

(4) Decentration

Which of the following psychologist
defined adolescence as "Adolescence is
that span of years during which boys
and girls move from childhood to
adulthood, mentally, emotionally,
socially and physically" ?

(I) A.T. Jersild
(2) E. B. Hurlock
(3) L P.Davis
(4) H. Sorenson

Level-3/4307

P.T.O.
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31

32.

33.

34.

B I e A A SR I O
FIfoTT :

(1) wgr

(2) g

(3) TAGAD

(4) s

diy-fese wd - @ gfe @

ST ehed AT

(1) g + @ = 9

(2) T + T = T

(3) UR + FHd = IR

(4) T + AR = TEIK

fopq faeheq # & IUEET B A & g
g7

(1) IR

(2) =y

(3) e

(4) ATTArH

e faheq H ‘oUEM TgEY H ST
TET g B ?

(1) SRt

(2) ST

(3) V=B

(4) TEBRI

Level-3/4307

35. ‘TS H Afeaw aEe Ui e
qE0E W@ - 39 9 ° ggE Qe
H AT A BIRTT -
(1) FiRed degmEmEs Lo
(2) e demErEs L
(3) iR gRHERS Lo
4) Ut Sigsh degmErEm Qe
36. fhe o= & ‘ofa’ IR H TN oVl & ?
(1) s
(2) @™
(3) StE=d
(4) o

37. @Al H I W 7T faehed YT

(1) e MW 9 ThHaad
TP Bl & |
(2) AfFdaTH TSE S &l 2|

3) 3=, [N, T, TG AR A
Aares Gsl § |

(4) AfFTEE® TG AGAED Gl B
Srfcraraes danell § WuraRer A o
el 2|



38.

39.

40.

41,

42,

P s # ‘AgarEE Fq T@d H
TN &g © 7
(1) o
(3) UBdrEr

(2) fesaE
(4) TSR

wfy % gfte & o e © -
(1) Y + HHiEr = IS
@) foEg + 9 = e

(3) 9 + HE = Y

(4) M + AT = STHTT

T HE-H AEEEEs s H
faSroraTe® S § 787 g § ?

(1) Thea
(3) ST

(2) TIFETH
(4) M9

“A qe9 afed Rl ar dsd &7 -
g qeg § faQmr @ HE-d orawen @

ST g § 7
(1) ©=Eer  (2) JamEe
(3) TWEET  (4) IAEET

BT & oY H oG HYT g
(1) To=pd & A ded ‘B e o1

WA e oqd BRA | TR
T 2

(2) I g # F FH &, ar e |
R’ o fTREe’ U HE WA
I o § 98 ‘e & OB § |

[11]

43.

44,

45.

[A]
3) % &4 % s o el O
= P STETHAT ol TS & I%
‘gt e R Fed © |
4) o, TN @GN TEE T
Tt fRaTe Bt ¥ |

it gftc § g I8 &l =G BT
(1) 3=
(2) RS
(3) offess
(4) et

Tir-foare @ sfe @ o FA W

gifeg

(1) %I, i, TR ST 08 ¢ |

2) ‘AT foprReE o B A9 S
gl

(3) G, HaW T§ favErs |l
gt # fofr @t gfte & fer 2 B

4) B, ¥, A9 oy =
AT STE & arad UE 2 |

et & ‘oifees’ avt -1 & ?
1 3 2) @

3 X 4) @

Level-3/4307

P.T.O.
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[12]

[ 3135ft / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Which one of the following words
underlined in the sentences given as
options has been used as a verb ?

(1) The stage performances are called
Raas Leela.

(2) The performers enacted Raas Leela

on the stage.

(3) Each actor performed in a circular

space on the stage in Raas Leela.

(4) The performing artist moved in a

circular space on the stage in Raas
Leela.

Select the correct option from the
following that correctly transforms the
following sentence from Direct speech
to Indirect speech :

He said, 'Congratulations !'

(1) He congratulated me.

(2) He said to me congratulations.
(3) He exclaimed congratulations.

(4) He is saying congratulations.

Fill in the blank with the correct

preposition :

Do you usually go out ........ Saturday
evenings ?

(1) in (2) at

(3) on (4) within

Level-3/4307

49.

50.

51.

52.

Choose the correct verb form in the
following sentence against the blank
space so as to complete the sentence :

"My father .......... for  Delhi
yesterday."

(1) leave (2) will leave

(3) left (4) will be leaving

Choose the correct option to fill in the
blank space in the sentence which
expresses the correct notion hinted in
the bracket against the blank space :

"You ...... (command) apologise or
face the consequences."

(I) must (2) shall

(3) may (4) could

Pick out the correct option to indicate
the use of adjective in the following
sentence :

"A Cool breeze blew from the sea."
(1) breeze (2) sea
(3) cool (4) blew

Identify the underlined word in the
given sentence.

I see him passing my house every day.
(1) Gerund

(2) Present Participle

(3) Infinitive

(4) Object



53.

54.

55.

56.

57.

Identify the correct meaning of the
underlined idiom in the following
sentence from the options given below :

"Climbing Mt. Everest is not a child's
play for anyone."

(1) very easy to do

(2) very difficult to do

(3) pleasant to do

(4) boring to do

Which one of the following sentences in
the options given below illustrates the
use of Intransitive verb ?

(1) Fire burns.

(2) The principal hoisted the flag on
Independence Day.

(3) She is reading the newspaper.

(4) Our team won the match.

Choose the correct set of articles from
the given options in the following
sentence against the blank space :

"The teacher wrote ......... outline of a
storyon ......... blackboard."

(1) a,a (2) an, the

(3) the,a (4) a,the

Which one of the following words is
not anoun ?

(1) advice (2) rice

(3) device (4) nice

Choose the word which is spelt
correctly :

(1) Beegning (2) Biginning

(3) Beginning (4) Begining

[13]

58.

59.

60.

[A]

"Reading improves your knowledge."

Identify the gerund in the above

sentence from the options given below :
(1)
2)
3)
“)

knowledge

improves

reading

your

Which of the options given below is the

correct passive form of the following

sentence ?

"The Bhagvad Gita presents a balanced
philosophy of life."

(1) A balanced philosophy of life is
presented by the Bhagvad Gita.

(2) A balanced philosophy of life has
been presented by the Bhagvad
Gita.

(3) The Bhagvad Gita has presented a
balanced philosophy of life.

(4) A balanced philosophy of life was
presented by the Bhagvad Gita.
Identify the compound word from the
options given below :

(1) Development
(2) Newspaper
(3) Powerful

(4) Childhood

Level-3/4307

P.T.O.



[A]

[14]

HET -1/ PART -1l
Y AT/ GENERAL STUDIES

[ A QRTAT, dliche SARTEHT Rl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3% : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

65.

3 dSH H o|d MF 16 I T AR
I Y B AU 4 : 57 &, A
94 BIC T8 Hl g Fer & 7

(1) 8 a8 ) 9 a9

(3) 12 a9 4) 16 a9

fordl alien & 60% feemdl s # e
70% TR # I gY, A 20% fereed
ae fowai W® & q° 2500
foemet T ool & oot @ @, @ &
qheniEl i He e § 7
(1) 3000 (2) 3500
(3) 4000 (4) 5000

A BATRIILIAEHCAND,E TR
ZTIEEARCE A R AN C, B A
ger %, @ W H @ dm-a &N
MATE &4 ¥ gF e ?

(1) A,C g8l (2)C,D d sgI 81
(3) D,C § 981 81 (4)E, B § e 2|

TH T P Eel dae @t 81 A R B
F ag F X offed B1 A & T& &R Y
BIAZ o B T wah Wik B 7
(1) @@ W (2) W

(3) | (4) 9B
BAXC&H 9 ABICEH A D B
A% E B @ frafefeg & §
H-TT 7FF B ERT 7

() E& g B Bl

(2) B & @1 E 81

(3) D 1 9 E B

4 D& T A 3|
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61.

62.

63.

64.

65.

The average age of three boys is 16 years
and the ratio of their ages is4 : 5 : 7, find
out the age of smallest boy.

(2) 9 years

(4) 16 years

(1) 8 years
3) 12 years

In an examination 60% of students passed
in English and 70% students passed in
Maths, 20% students failed in both subjects,
2500 students passed in both subjects. Find

out total number of students :
(1) 3000 (2) 3500
(3) 4000 4) 5000

A is elder to B while C and D are elder
to E. E lies between A and C and C is
elder to B, then which of the following
statements is necessarily true ?

(I) AiseldertoC (2) CiseldertoD
(3) DiseldertoC (4) Eiselderto B
Bottom surface of a cube is empty. X is
marked between A and B. Y marked on

the left of A. Then Z marked on which
surface of cube ?

(1) bottom side (2) up side

(3) infrontside (4) in back side

A is the brother of B and C. D is the
mother of C. E is the father of A. Then
which statement is false ?

(1) Bissonof E.

(2) E is father of B.

(3) Eis husband of D.

(4) Aissonof D.



66

67.

68.

69.

70.

71.

72.

. STl auigrer H fRAw ofe & &g
yfafers srafRafad w©a 2 ?
(1) 8 2) 9
3) 12 “4) 11
=1 9o & 7 ag A SIRE
1CV, 5FU, 91T, 15LS, 170R
(1) 5FU (2) 9IT
(3) 15LS (4) 170R
Ry W fymdl § ¥ §97 B ¢
1) 171 () 131
(3) 161 4) 181
frrifoiiea o=t & =y § U U o
% AR fofem :
i.  Critical ii. Criterion
iii.  Crisis iv. Crisp

(2) i, iii, iv, ii
@) iv, iii, i, ii

(1) iii, iv, ii, i
(3) iii, iv, i, ii
i AN U H fquda w9 § forg
fer o, o s ok @ 199 SR &
Tt X 84T 18 HIF-A1 BN ?

() T (2) P

3) Q 4) R

g 'PROPERTY' ¥ e} & U@ fvem
W 2, s 7 § 991 S @ o @
R & o7 9 el avEer § 39

H9 D AA F A & 7

(1 0 @) 1

(3) 4 “4) 3

q AR AT B IAHA I B
SFE-AMY @8 9| A’ A H WBE A
F I I TS W B, A T B H
T fpa fesm & ® ?

(1) &Rt (2) JW

3) w 4) =™
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66.

67.

68.

69.

70.

71.

72.

[A]

In English alphabet, how many letters
are unchanged in mirror image ?

(H 8 2) 9
3) 12 @) 11

Find the wrong term in the following
series :

1CV, 5FU, 91T, 15LS, 170R

(1) 5FU (2) 9IT

(3) 15LS (4) 170R

Find the Odd one out from given
options :
(1) 171
(3) 161

(2) 131
4) 181

Write the following words in the order
given in the dictionary :
1. Critical ii. Criterion

iii.  Crisis iv. Crisp
(2) 1,iii, iv, ii

) iv, iii, i, ii

(1) 1, iv, 1,1
(3) iii, iv, 1,1l
If English alphabets are written in
opposite order, then which is the 8th
letter of the 19th letter from left side ?
1 T 2) P

3 Q 4 R

In the word 'PROPERTY' how many
such pairs of letter exist, which has the
same number of letters between them
here as what they have between them in
their order in English Alphabet ?

(1) 0 2) 1

3) 4 4) 3

Two persons A and B stand in front of
each other in morning. If A's shadow's
lies in the left side of 'A’, then in which
direction B's facing ?

(1) South (2) North

(3) East (4) West

P.T.O.



[A]

73.

74.

75.

76.

77.

78.

79.

Q%mﬁmm%aﬁ%aiﬁrdww
15% &1 91 1 &, 98 U9 d1d W
ST qed & e A ged Sfehd
fF 38 19% @9 & ?

(1) 34% (2) 40%

(3) 25% 4) 30%

oig a¥ ueEr, Rar @ oy 9Es g &
g H R S 9w 9w gE, R @
Y I G H oMY A 7 T A R
F KA Y S

(1) 40 a9 (2) 30 a9

(3) 50 ad¥ 4) 45 a9

A 6 TN % foobg g, 8 TN & WA

gm%w%,a?mﬁ/aﬁqﬁmaﬁ
(1) 25% @4
(3) 33%% B\

o 2x+7_3x+11:2x+8_5 s‘r, ?‘ﬁ

(2) 25% &=
(4) 33%% @9

5 2 3
x=7?
(O 1 2) -1
3) 2 4 =2

T%H JA9 H THYCE SFABA 264 THET
T qUT SEAN 924 THIeR B | T A
F TH HAE § FT SIIC BT 7

(1) 7:6 2) 6:7

(3) 3:7 @) 7:3

ThYE S | -6 G | 9 B
o ¥ 650 o T 2 qAY & oG H
676 To & SR ?

(1) 52059 (2) 572591

(3) 600 T4 (4) 625599

s I TERE 9 B TH @Y & W 2
¥ & fou SER fear &, AR &N B W
1% ot % Bl Al 399 240 51
s oM &l | ¥8 o9 o B 7

(1) 5,000 %o (2) 6,000 Fo

(3) 8,000 Fo (4) 12,000 o
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73.

74.

75.

76.

77.

78.

79.

A businessman gives 15% discount on
the list price of his items. How much
price he should mark on his items to the
cost price to get 19% profit ?
(1) 34% (2) 40%
3) 25% 4) 30%

After 5 years, father's age will be three
times of his son's age. 5 years ago,
father's age was 7 times of his son's age.
The present age of the father is :

(1) 40 years (2) 30 years

(3) 50 years (4) 45 years

If the selling price of 6 pens is equal to
the cost price of 8 pens, then profit/loss
in percentage is :
(1) 25% profit
3) 33%% loss
2x+7 3x+11_2x+8

(2) 25% loss
(4) 33%% profit

If 5, then
5 2 3

x=7?

1 2) -1

3) 2 4 -2

The curved surface area of a cylinder is

264 m” and its volume is 924 m3, then
what is the ratio between its diameter

and height ?
(1) 7:6 (2) 6:7
3) 3:7 4 7:3

What principal on compound interest
has their amount Rs. 650 in one year
and Rs. 676 in two years ?

(1) Rs. 520 (2) Rs.572

(3) Rs. 600 (4) Rs. 625

A principal lends on simple interest for
two years. If rate of interest more than
1% the simple interest increased by
Rs. 240. Find out the principal :

(1) Rs. 5,000 (2) Rs. 6,000

(3) Rs. 8,000 (4) Rs. 12,000



80.

81.

82.

83.

84.

125 HieX T WS 60 Bl afer goa
Pl = § TR T G B 30 Faos |
IR FX S 2 | G H qs e o ?

(1) 375 Hiex (2) 225 WX
(3) 125 #Hiex (4) 250 HeX
forem, e ToT0 e oTaRed ®
(1) & (2) fER
(3) e (4) fsTe

qerEsl & & O oY & MR W
harn & Frefafed  gemtdl @
S (vaitues orfy qdve) w9 §
FaRIT BT :

(i) 9o QT

(i) S

(iii) g Rie gger

(iv) 34 dr

HF?QQ?I gﬁn :

(1) (@), (i), (iii), (iv)

(2) G, (@), (i), @[1v)

(3) (), (i), (v), (iii)

4) (1), (v), (ii1), (1)

Rre o gera: o e @ Rife ®

(1) fEam (2) F==)

(3) famit (4) Ueas

I Iq P IR H oTOifcied O W

o FiTT

(a) ST <A U9TE fae |/ @ Sureme
ff |

(b) ST BRI H T AT, I BN
frer @ @1 Srey A T

SWE ¥ ¥ B9-a1/H9-8 & g8

2R 7

(1) %3 (a) T &

(2) Fad (b) T 2

(B) A (@ MTE (b) T

(4) (a) T (b) I T &
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80.

81.

82.

83.

84.

[A]

At the speed of 60 km per hour, 125
meter long train crosses a bridge in 30
seconds. What is the length of bridge ?

(1) 375 meter (2) 225 meter
(3) 125 meter (4) 250 meter

The district, in which Gujari Mahal is

situated :

(1) Hansi (2) Hisar

(3) Panchkula (4) Ambala

On the basis of extent of the period as

Chief Minister, arrange the following

Chief Ministers of Haryana in

descending order (longest serving first) :

(i) Bhajan Lal

(i1) Bansi Lal

(i11) Bhupinder Singh Hooda

(iv) Devi Lal

Choose the correct code :

(1) (@), (), (i), (iv)

(2) (@), (@), (iid), @iv)

(3) (), (1), (iv), (iii)

(4) (1), (iv), (i11), (1)

The district, which is mainly irrigated

by Jui Canal :

(1) Hisar (2) Jhajjar

(3) Bhiwani (4) Rohtak

Consider the following statements about

Shanno Devi :

(a) Shanno Devi
Speaker
Assembly.

(b) When Haryana was formed; she
was elected as the Speaker of
Haryana Legislative Assembly.

Which of the above statement/

statements is/are frue ?

(1) Only (a) is true

(2) Only (b) is true

(3) Neither (a) nor (b) is true

(4) Both (a) and (b) are true

was the Deputy
of Punjab Legislative

P.T.O.



[A]

85.

86.

87.

88.

89.

90.

‘G RY TARR-TT H GUEEH BN

g ?
(1) g (2) gl ;)
(4) 9 A

(3) Bl ™
3R WO TESE 4 % aR A
Jrefaiead HeH W =R ST -

(a) T FHISA-TMREE-Ioad TrsE d
off e 21

(b)%ﬂﬂ%@fﬁaﬁzooﬁﬁo@faﬁzﬁ
|
SR & Q@ B9-91 HI 78 /8 -

(1) %ad (a) 9 8

(2) 3a9 (b) I 2

B) Fdq (@ MRTE (b) T2
(4) (a) 3T (b) AT 9 &

qReve] o efaiad ® 9 e e §
T e & ?

(1) HEa (2) GHd
3) ®HEA (4) S
AT F [T IW T
(1) Gua (2) el
(3) ST (4) -9

LIRS AT BRI Aef-2018 |
frfafeg § @ B9-a1 gewrl T a1 ?

(1) (2) wF

(3) FoMPpEE  (4) TR
frfofag § & B0 B9 &1 SHeen
T T99 F § 7
(1) BT

(3) #o=X

(2)
(4) Hard
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85.

86.

87.

88.

89.

90.

Who was the editor of 'Khair Andesh'
Newspaper ?

(1) Chandulal (2) Murlidhar

(3) Chhotu Ram (4) Sham Lal
Consider the following statements about
Eastern Peripheral Expressway :

(a) It is also known as Kundli-
Ghaziabad-Palwal Expressway.

(b) The total length of this expressway
is more than 200 K.M.

Which of the above statement is/are
true ?

ey
2)
3)
“)
The Markanda river does not flow in
which of the following district ?

(1) Kurushetra  (2) Sonipat

only (a) is true

only (b) is true

neither (a) nor (b) is true
both (a) and (b) are true

(3) Karnal (4) Ambala
The state tree of Haryana is :
(1) Peepal (2) Khejari
(3) Banyan (4) Neem

Which of the following was the partner
nation in Surajkund International Craft
Fair-2018 ?

(1) Egypt

(3) Kazakhstan

(2) France

(4) Kyrgyzstan
Which of the following districts has the
lowest population density ?

(1) Karnal (2) Sirsa

(3) Jhajjar (4) Mewat
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[A]

9 - IV / PART = IV
TSIl {959 / POLITICAL SCIENCE

@sr : =i god] % Gav @7 & [T @@ fEd [ g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

95.

fr=iifhd & @ ®9-9 3T G-15 & G
g7

(A) AfFaaR (B) ferct
(C) & EINE
g T B -

(1) (A), (B)Q?T(C)

2) (B), (€)@ (D)

3) (A), (©) T (D)

4) (A), (B), (€)W (D)

ST # Afvas o Gk & w9 OH
fepem afenfira fopar & 7

(1) e o feiw

(2) Il e

(3) THTSIEn

(4) HifE HHAA

=g § 9 fheM IWd fdsa @
Uhaee’ & w9 A fafa fear ?

(1) eI Tz

(2) ST aER

(3) ST AR

(4) THHT Slo Rwy

GRITE! T8 TSRS 39 SHhiCH
T A I & oEd S S 7
(1) Ui THo Titerel

(2) e ered

(3) B W

(4) Elo acEl

f&di Ad-eThie ®IRA affe &1 T
fra o= | fhar AT o ?

(1) 72 e (2) oTfeq oramEn

(3) e (4) Sie-aa
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91.

92.

93.

94.

95.

Which of the following countries are
the members of G-15 ?

(A) Mexico (B) Chile

(C) Iran (D) Sri Lanka
Correct answer is :

(1) (A), (B) and (C)

(2) (B),(C) and (D)

(3) (A), (C) and (D)

@) (A), (B), (C) and (D)

Who termed Japan as 'Global Civilian
Power' ?

(1) Ernest F. Rollings

(2) Yoichi Funabashi

(3) Miyazawa

(4) Francis Fukuyama

Who among the following portrayed the
emerging world as ' McWorld' ?

(1) Naomi Klein

(2) Benjamin Barber

(3) Ernest Gellner

(4) Anthony D. Smith

Who is the Author of the book 'Morality
and Administration in Democratic
Government' ?

(1) Paul H. Appleby

(2) Robert Dahl

(3) Herbert Simon

(4) D. Waldo

The India-Africa

Summit was held in which city ?
(1) New Delhi (2) Addis Ababa
(3) Cairo (4) Johannesburg

P.T.O.

Second Forum



[A]

96.

97.

98.

99.

100.

101.

g 7

(1) =X R (2) AR IEE
(3) TSHRET (4) = 9
fr=rifrd § @ frem ‘foifer-fm oz &
foram &1 fospfera fomam ?

(1) g e (2) I T8

(3) I=d 4) &S

qT X TR J 25 I8t & A &
ford fprar ol anfea &t dfy o fFa ad
gEqeY Ry ?

(D 1971 (2) 1972

(3) 1973 4) 1974

e el § 8 I8 fRad &I
S

REGIIIEI5 B2 S S COMIS U S | B |
AT Hge 2 Qi SR 3 aml
N B 7

(1) &9 Jo ARFATS

(2) "o o =HT

(3) I s=go TfeH

(4) St Hio Hefd

freiifed & @ fFR 98 @@l B f
AR TSI H EEA # ST
SIS oI & ST @l fafeames ®
e o’ ?

(1) @i (2) g faee

(3) TRE BMFET (4) W& piad

‘b UM TH Afoe 2 AR
ST T Ao eI &

7€ FHU fheht B 7

(1) TEa e &

(2) To o AT &N

(3) Tho THo HEH &

(4) =1 To dFE F

Level-3/4307

[20]

96.

97.

98.

99.

100.

101.

Who was the founder of the 'Dalit
Mazdoor Kisan Party' ?
(1) Charan Singh (2) Morarji Desai

(3) RajNarayan (4) Narendra Dev

Who among the following has developed
the idea of 'Linking-pin model' ?

(1) Rensis Likert (2) Chester Barnard
(3) Wesley (4) Korten

In which year India and Bangladesh
signed the Treaty of Friendship and
Peace for the term of 25 years ?

() 1971 (2) 1972
(3) 1973 (4) 1974

Which of the following thinkers made
this statement —

"Thus it is not detente that makes for the
peace, but it is the nuclear balance that
makes both for detente and peace" ?

(1) HansJ. Morganthau

(2) C.D. Blacker

(3) John W. Gaddis

(4) George C. Marshall

Who among the following stated that
"rule of law in International Politics
would turn the jungle of International
Politics into zoo" ?

(1) Stalin

(2) Woodrow Wilson

(3) Erich Honecker

(4) Robert Cox

"Administration is a moral act and the
administrator is a moral agent."

Who made this statement ?

(1) Ordway Tead

(2) A.D. Gorwala

(3) F. M. Marx

(4) Charles A. Beard



102.

103.

104.

105.

106.

107.

Ffiad § 9 fhg 391 @ 991 9 9Ra
F HEI@ § AReM offa R
Gt foar ?

(1) 9= (2) A9E

(3) ikt (4) AT

q R off ofReT WlaX dAM®
JE® b AEF ©

(1) Tofe T

(2) IS AEN

(3) % grdtex
(4) focest wigtd

3, 2018 H ‘9a-MfEw R g e
fra 9 | oo fRam e ?
(1) Tfwed (2) FHIUTRTH
(3) Bl (4) TGS

for=ifhd & @ fohg foamse 3 78 7
g & GewmrE dumd @ el
TER =0T @ 29 8% d% dem H
feeaell W & % Udd Awemel qH
& FIRaEl TS H geed & @ad
3~ & I © 7

(1) & (2) gears

(3) s 4) foee

frifha foament & 9 69 e 3 %8
% oo B % U o9 3R S w@nfd
FE & 9 AT T T S| TR T
¥ g5 a1 &I AATEN F ANE B o
T T o § eHar @ 7

(1) To UHo F RI=aen!

(2) Ve s

(3) SIE® St

(4) 9 ARER

e & fhe e 3 Afkas gRm-
WA (e J9Afe]) B e aEd
fopar ?

(1) 8% |@EAT (2) So Slo A
(3) THo Tio ¥M (4) Jae offel

fear
T
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102.

103.

104.

105.

106.

107.

[A]

Which of the following country's army
conducted 'Operation All Clear' with the
assistance of India ?

(1) Bhutan (2) Nepal

(3) Sri Lanka (4) Maldives

Who is the author of the book 'The
Decline of American Power' ?

(1) Roland Robertson

(2) Immanuel Wallerstein

(3) Joseph Schumpeter

(4) Milton Friedman

In April, 2018 'India-Nordic Summit'
held in which city ?
(1) Stockholm

(3) Helsinki

(2) Copenhagen
(4) Reykjavik

Which of the following thinkers argued
that bureaucracy is interested in
increasing governmental of
everyday life to the extent that every
bureaucratic society runs the risk of
becoming a totalitarian society ?

(1) Hayek (2) Woodward

(3) Lorsch (4) Miller

control

Which of the following thinkers argued
that peace prevails once one state
establishes primacy. The hegemonic
state lacks the need to fight and other
states lack the ability ?

(1) A.F. K. Organski

(2) Robert Jervis

(3) Joseph Joffe

(4) John Mearsheimer

Which of the following thinkers has
given the concept of 'Global rationality' ?
(1) Herbert Simon (2) J. G. March
(3) S.L.Green (4) Robert Audi

P.T.O.



[A]

108.

109.

110.

111.

112.

Frifed & & @A-01 g&& &4 Slo
s g} ok © 7

(A) & IO 36 TAREA difciiead
(B) T UUE UEX

(C) 37 %= offtF & AgFet Tredee
g8 T T

(1) (AT B) (2) (AT (C)

3) BT O @ (A), BT (C)
fritha foement & 9 @9 g8 AW @
fop ‘o el & i iR bl FE
5 P HAEA B FA HC o 7

(1) 9 #RiER

(2) ol T

(3) SE% THo ™

(4) " =i

REA, R, TEq J&h & 0w
H 2 7

(1) Tave Faea

(2) dafpa g5

(3) TEHE SRHT

(4) JaAR® IH

frifed & @ FE/AM-9 s/
foramept 3 TS | et @l STasTehdr
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108.

109.

110.

111.

112.

Which of the following books have
been written by Hans. J. Morganthau ?
(A) The Purpose of American Politics
(B) Truth and Power

(C) In Defense of the National Interest
Correct answer is :
(1) (A)and (B)
(3) (B) and (C)

Which of the following thinkers
believes that equality of power among
the 'major powers' the
likelihood of war ?

(1) John Mearsheimer

(2) Susan Strange

(3) Joseph S. Nye

(4) Noam Chomsky

(2) (A)and (C)
4) (A), (B) and (C)

minimizes

Who is the author of the book
"Territory, Authority, Rights' ?

(1) Roland Robertson

(2) Saskia Sassen

(3) Zymunt Bauman

(4) Ulrich Beck

Which of the following thinker/thinkers
has/have given the idea of 'complex-
interdependence' in context of need of
International Organizations ?

(1) Keohane and Joseph Nye

(2) David Mitrany

(3) Arne Naess and Murray Bookchin
(4) James Lovelock

Which of the following scholars called
nuclear retaliatory threat as ‘'cosmic
bluff ' ?

(1) Samuel P. Huntington

(2) George Ball

(3) Herbert Butterfield

(4) John H. Herz



113.

114.

115.

116.

117.

fr=iifed & 9 fpE faeme 9 W@iaeaR
q gefgq A AR B e
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(1) S0 o
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T ®
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(3) ®EHS T
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it & @ fhEe Ueed A9 & FF 0F
qMg T ARTH d T g
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(1) TSt

() fEd =
(3) TP

4) 29 Fxids

SMadl, 2019 H 9RA @ AR A=
S G| A e S < ) R o7 B
T & 7

(1) e (2) D

(3) fFcivs (4) -

fr=iifea ® & o9 foame 9 ‘oA
! GETgshiiehl 1 o= S fohar ?
(1) T TR
(2) <TSEd dHar
(3) A fompe
(4) W& aotan
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113.

114.

115.

116.

117.

[A]

Which of the following thinkers has
the 'GAIA hypothesis'
related to Environmentalism ?

formulated

(1) James Lovelock
(2) Carolyn Merchant
(3) Vandana Shiva
(4) Garrett Hardin

According to J. W. Fesler, which one of
the following factors is not responsible
for Centralization and Decentralization ?
(1) Factor of responsibility

(2) Administrative factor

(3) Functional factor

(4) Emotional factor

Who among the following termed the
work of Elton Mayo and the human
relations school as 'cow sociology' ?

(1) Etzioni

(2) Daniel Bell

(3) McGregor

(4) David McClelland

Erna Solberg is Prime Minister of
which country, who paid state visit to
India in January, 2019 ?

(I) Sweden (2) Denmark
(3) Finland (4) Norway

Which of the following thinkers has
given the idea of 'Hierarchy of Needs' ?

(1) Chris Argyris
(2) Abraham Maslow
(3) Rensis Likert
(4) Fredrick Herzberg

P.T.O.
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118.

119.

120.

121.

Which of the
functions of a chief executive ?

following are the
(A) To decide the administrative policy

(B) Authority to issue directions and
commands

(C) Co-ordination

(D) To maintain the prestige of the
administration

Correct answer is :

(1) (A), (B) and (C)

(2) (B),(C) and (D)

(3) (A), (B) and (D)

@) (A), (B), (C) and (D)

Which of
considered

thinkers
between

the following
'World  Order'
people to be more fundamental and
primordial than international order ?

(1) C. G. Rosenberg
(2) John Naisbatt

(3) Hedley Bull

(4) George F. Kennon

The 'Latin America Nuclear weapons-
free zone treaty' is also known as :

(1) Treaty of Tlatelolco
(2) Treaty of Buenos Aires
(3) Treaty of Santiago

(4) Treaty of Lima

Which one of the following scholars

called presidential system as ‘'one
person executive' ?

(1) Arend Lijphart

(2) Morris Duverger

(3) Gilchrist

(4) Walter Beghot



122.

123.

124.

125.

126.
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122.

123.

124.

125.

126.

[A]

The terminology 'Layercake Federalism'
is used for which type of Federalism ?

(1) Dual federalism
(2) Cooperative federalism
(3) Creative federalism

(4) Bargaining federalism

Which one of the following thinkers
'Instituted
sovereignty and acquired sovereignty' ?

(I) Thomas Hobbes
(2) James Buchanan
(3) Machiavelli

(4) Harold Laski

differentiate between

Which one of the following thinkers
refutes 'Equality of welfare' ?

(1) John Rawls

(2) Ronald Dworkin

(3) Eric Rakowski

(4) Micheal Walzer

The number of seats in Telangana State
Legislative Council are :

(1) 32 @) 36
(3) 40 ) 44

The business of the government of India
allocated to cabinet secretariat is and
shall always be deemed to have been
allotted to according to the
Government of India (Allocation of
Business Rules) 1961.

(1) President

(2) Prime Minister

(3) Minister of Home Affairs
(4) Cabinet Secretary

P.T.O.
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129.
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131.
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127.

128.

129.

130.

131.

Who among the following
acknowledges that "the concept of
liberty, the

Rousseauan frame work is prone to

positive understood in
totalitarian manipulation" ?

(1) Ralph Miliband

(2) Milton Friedman

(3) Charles Taylor

(4) Isaiah Berlin

Which of the following does John
Rawls calls "The Primary Subject' of the
principle of justice ?

(1) Original position

(2) Basic structure

(3) Lexical priority order

(4) Justice as fairness

Which of the following thinkers used
‘'economic models' in political decision
making process ?

(1) Robert Dahl

(2) Alvin Toffler

(3) Harold Lasswell

(4) Anthony Downs

Who among the following believes that
the content of the directive principles of
state policy was also to some extent a
product of the anti colonial revolution ?
(1) Morris Jones

(2) K. C. Wheare

(3) Granville Austin

(4) Myron Weiner

Which of the following scholars termed
India as 'Democratic Developmental
State' ?

(1) Paul Brass (2) Uday Mehta

(3) Rajani Kothari (4) James Manor



132.

133.

134.

135.

136.
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132.

133.

134.

135.

136.

[A]

Which of the following thinkers has
given the view that, in India the
participation in electoral politics created
a democracy of castes in place of a
hierarchy of castes ?

(1) Suhas Palsikar

(2) Sudipta Kaviraj

(3) Yogendra Yadav

(4) Rajni Kothari

Which of the following Parliamentary
(Loksabha) Constituency had the most
candidates in Loksabha Election 2019 ?
(1) Asansol (2) Vellore

(3) Nizamabad (4) Anantnag

Who among the following believes that
rational' is the basis of
Federalism ?

(1) Andrew Linklater

(2) William Riker

(3) Louise Tillin

(4) Charles Tarlton

'social

Who among the following has given the
view that despite periodic appearances to
the contrary, the long term tendency in
India is towards pluralism, regionalism
and decentralization ?

(1) Paul Brass (2) Surinder Jodhka

(3) James Manor (4) E. Shridharan

Who among the following scholars has
first, called the parliamentary system as
'Prime Ministerial Government' ?

(1) Richard Crossman

(2) Mackintosh

(3) Arend Lijphart

(4) Walter Lipman

P.T.O.
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137.

138.

139.

140.

141.

The word 'Political Party' was inserted
in the constitution of India for the first
time by :

(1) 52nd amendment

(2) 65th amendment

(3) 78th amendment

(4) 91st amendment

Who among the following believes that
the 'quest for a universal theory of
rights is misguided' ?

(1) Michael Sandal

(2) Iris Morris Young

(3) Quintein Skinner

(4) Michael Walzer

Who among the following elected/
appointed Dr. Bhim Rao Ambedkar as

Chairman of the committee to scrutinize
draft constitution ?

)
2
3)

President of the Constituent Assembly
Members of the Constituent Assembly
Members of the committee to
scrutinize draft Constitution

Central Government

“4)

Under provision of which article of the
Constitution of India, State Election
Commissioner is appointed by Governor ?

(1) Article 243 N
(2) Article 243 K (1)
(3) Article 243 L

(4) Article 243 M (1)

Which of the following thinkers
believes that traditional political
scientist suffered from 'theoretical

malnutrition and surfeit of facts' ?
(1) Karl Popper (2) David Easton
(3) Dante Jermino (4) Arnold Brecht
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142.

143.

144.

145.

[A]

Which one of the following pairs is not
correct about the revolutions that took
place before of
democracy in the following countries ?

(1) Egypt

(2) Tunisia
(3) Myanmar - Saffron revolution
(4) Kuwait

the establishment

— Velvet revolution

— Jasmine revolution

— Blue revolution

Who among the following see "power
as productive power means it produces
identity and subjectivity" ?

(1) Michael Foucault

(2) Michael Walzer

(3) Robert Nozick

(4) Theda Skocpol

Which one of the following is not
consider to be a characteristic of Indian
Secularism ?

€]
2

It is a multi value character

It also accepts community specific
rights

(3) It is committed to the idea of
principled distance

It is not committed to different

“4)

model of moral reasoning

Which of the following Samuel Britton
considers, the economic consequences
of Democracy ?

(1) Fiscal deficit

(2) Zero based budget
(3) Participatory budget
(4) Fiscal dividend

P.T.O.
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146.

147.

148.

149.

150.

Who among the following said that
fundamental rights in India rest on the
bedrock of Indian National Security ?
(1) Alladi Krishnaswami Ayyar

(2) K. M. Munshi

(3) Dr. B. R. Ambedkar

(4) C. Rajagopalachari

Which one of the following thinkers
believes that dictatorship 1is the
government of one man, who has not
primarily obtained his position by
inheritance, but by either force or

consent and normally by a combination
of both ?

(1) Alfred Cobban
(2) Herman Finer
(3) Herold Laski
(4) Garner

Which one of the following thinkers has
given the opinion that any attempt to
create a welfare state must lead
inevitably to totalitarianism ?

(1) Michel Foucault

(2) Ralph Miliband

(3) Friedrich Hayek

(4) Robert Nozick

At which of the following places for the
first time the bench of the Supreme
Court of India sat outside Delhi ?

(1) Hyderabad
(3) Gwalior

(2) Srinagar
(4) Bhopal

The term 'Bharat Versus India' was first
coined by whom ?

(1) Sharad Anantrao Joshi

(2) A.R.Desai

(3) Kanta Randive

(4) N. M. Joshi
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